Estimate

Patidar Woodtech Pvt Ltd

6-2-124, New Bhoiguda Secunderabad Hyderabad Telangana 500003

+91 98489 96608 patidarwoodtech@gmail.com GST:36AAHCP1268K1Z4

296

13 Jun 2024

Estimate #

Date

BILL TO Modi Properties +91 799 709 709 2

- Veneer is standard teak veneer - 80" x 26" - 1 nos, 82" x 13" - 1 (D.D)

Item	Quantity	Price	Amount
Main Door	2	₹19,240.00	₹38,480.00
D (Type 1) - Door Thickness - 30mm + Fluted panel both side - Flute panel - KL 043 - 80" x 38" - 2nos			
Main Door	2	₹18,300.00	₹36,600.00
D (Type 1) - Door Thickness - 30mm + Fluted panel both side - Flute panel - KL 043 - 80" x 35" - 2nos			
Bedroom Door	4	₹16,100.00	₹64,400.00
D1 (type 2) - Door Thickness - 30mm + Fluted panel both side & Veneer - Flute panel - KL 042 - Veneer is standard teak veneer - 80" x 35" - 1 nos, 81" x 35" -3 nos			
Internal Veneer Door	2	₹9,150.00	₹18,300.00
D1 office doors (type 3) - Door Thickness - 30mm + Veneer both side - Veneer is standard teak veneer - 81" x 35" - 2 nos - Glass not included			
Internal Veneer Door	1	₹8,150.00	₹8,150.00
D1 office doors (type 3) - Door Thickness - 30mm + Veneer both side - Veneer is standard teak veneer - 81" x 32" - 1 nos - Glass not included			
Internal Veneer Door	4	₹6,050.00	₹24,200.00
D2 Store/Other Doors (Type 4) - Door Thickness - 30mm + Veneer both side - Veneer is standard teak veneer - 80" x 32" - 3 nos, 81" x 32 -1 nos			
Internal Veneer Door	2	₹5,535.00	₹11,070.00
D2 Store/Other Doors (Type 4) - Door Thickness - 30mm + Veneer both side			

Item	Quantity	Price	Amount
Bathroom Door	5	₹5,535.00	₹27,675.00
D3 Toilet Doors (Type 5)			
Door Thickness - 30mm + Veneer both side			
Veneer is standard teak veneer			
81" x 26" - 4 nos, 82" x 26" - 1 nos			
- Glass not included			
Bathroom Door	1	₹6,050.00	₹6,050.00
D3 Toilet Doors (Type 5)			
Door Thickness - 30mm + Veneer both side			
Veneer is standard teak veneer			
81" x 32" - 1 nos			
Glass not included			
Bathroom Door	1	₹6,255.00	₹6,255.00
D3 Toilet Doors (Type 5)			
Door Thickness - 30mm + Veneer both side			
Veneer is standard teak veneer			
82" x 32" - 1 nos			
- Glass not included			
Bathroom Door	1	₹7,035.00	₹7,035.00
D3 Toilet Doors (Type 5)			
Door Thickness - 30mm + Veneer both side			
- Veneer is standard teak veneer			
- 82" x 33" - 1 (D.D)			
Glass not included			
		Subtotal	₹240.21F.00
			₹248,215.00
	G	ST (18%)	₹44,678.70

Grand Total

₹292,893.70

Terms & Conditions

- Transportation Extra
 Gst 18% applicable
 All Doors will have teak wood lipping
 Final inspection at our premises
 All Rates are without Polish & fitting rates.
 Goods once sold will not be exchanged and replaced.
 We are not responsible for any damage during transport.
 50 % Advance payment Compulsory, 50 % payment at time of dispatch.
 Order timeline 20-25 working days after receipt of advance.
 Quote validity 7 days only.







D1 office



D2 store



D3 Toilet